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11 класс 
 

Вариант I 
 
I. Лексико-грамматические задания  
 Задание 1 

А. 1) c; 2) b; 3) c 
Б. 1) c; 2) c; 3) b 
В. 1) c; 2) a; 3) a 
Г. 1) b; 2) c; 3) b 
Д. 1) c; 2) b; 3) b 

 Задание 2 
1) dogged 2) stung 3) bled 

 Задание 3 
 1-3 2-1 3-4 4-7 5-6 6-2 7-5 
 Задание 4 

1) b; 2) c; 3) a 
 

II. Проверка понимания текста 
 Задание 1 

1. B 
2. A 
3. B 
 

III. Проверка лингвострановедческих знаний 
 Задание 1 

1. B. Oregon 
2. B. “The Diamond Sutra” 
3. A. Francis Bacon 
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IV. Проверка навыков аудирования (Текст и задания одинаковы для всех вариантов) 
 Задание 1 

News Anchor: It took India 6 months to register its first half a million coronavirus cases, 
but just three weeks to reach a million – a milestone it topped on Friday. So far, major cities like 
Delhi and Mumbai have been the worst affected. But now rural areas in the south-east and west of 
the country are seeing significant rises. 

India went into a nation-wide lockdown in March when there were just a few hundred 
cases. It was lifted last month but some medics like Dr. Harjit Singh Bhatti from Delhi’s Manipal 
Hospital say that was a big mistake. 

Dr. Harjit Singh Bhatti: The reopening of lockdown is also a major cause for it because 
first thing is that the lockdown period was not used appropriately for breaking the chain of 
transmission, and secondly the lockdown was reopened without any further planning to how to 
control the virus. 

News Anchor: Well, other people point to areas of progress. Dr. Harsh Mahajan is Vice 
President of the National Federation of Healthcare in India. 

Dr. Harsh Mahajan: There are some silver linings also – Delhi and Mumbai – the numbers 
are coming down. And in fact only 25% of COVID beds are now occupied. India has had very 
good case fatality rate – (that) it’s been 2.5%. If you look at the US or Brazil it’s 3.9 and 3.8%. 

News Anchor: But our correspondent in Delhi Zubair Ahmed says that if you look at the 
rate of spread, the figures are very worrying. 

Zubair Ahmed: Every day the rise in cases breaks the previous day’s record, with reports 
of cases coming from new areas, from smaller towns and cities. So that is where they are spreading 
now.” 
 Задание 2 
 True False Not stated 
Every day the number of people contracting COVID in India 
increases. 

+   

There are not enough beds for patients with coronavirus in 
Indian hospitals. 

 +  

The Indian authorities lifted the lockdown before there was a 
strategy designed to prevent the further spread of the 
coronavirus. 

+   

 
Вариант II 

 
I. Лексико-грамматические задания  
 Задание 1 

А. 1) c; 2) a; 3) c 
Б. 1) b; 2) c; 3) c 
В. 1) a; 2) b; 3) c 
Г. 1) b; 2) c; 3) a 
Д. 1) b; 2) c; 3) c 

 Задание 2 
1) clung 2) flapped 3) pried 

 Задание 3 
 1-6 2-4 3-3 4-7 5-2 6-5 7-1 
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 Задание 4 

1) c; 2) b; 3) c 
 
II. Проверка понимания текста 
 Задание 1 

1. C 
2. C 
3. D 

III. Проверка лингвострановедческих знаний 
 Задание 1 

1. B. The thistle 
2. B. The Pelican State  
3. A. Benjamin West 

 
IV. Проверка навыков аудирования (Текст и задания одинаковы для всех вариантов) 
 Задание 1 

News Anchor: It took India 6 months to register its first half a million coronavirus cases, 
but just three weeks to reach a million – a milestone it topped on Friday. So far, major cities like 
Delhi and Mumbai have been the worst affected. But now rural areas in the south-east and west of 
the country are seeing significant rises. 

India went into a nation-wide lockdown in March when there were just a few hundred 
cases. It was lifted last month but some medics like Dr. Harjit Singh Bhatti from Delhi’s Manipal 
Hospital say that was a big mistake. 

Dr. Harjit Singh Bhatti: The reopening of lockdown is also a major cause for it because 
first thing is that the lockdown period was not used appropriately for breaking the chain of 
transmission, and secondly the lockdown was reopened without any further planning to how to 
control the virus. 

News Anchor: Well, other people point to areas of progress. Dr. Harsh Mahajan is Vice 
President of the National Federation of Healthcare in India. 

Dr. Harsh Mahajan: There are some silver linings also – Delhi and Mumbai – the numbers 
are coming down. And in fact only 25% of COVID beds are now occupied. India has had very 
good case fatality rate – (that) it’s been 2.5%. If you look at the US or Brazil it’s 3.9 and 3.8%. 

News Anchor: But our correspondent in Delhi Zubair Ahmed says that if you look at the 
rate of spread, the figures are very worrying. 

Zubair Ahmed: Every day the rise in cases breaks the previous day’s record, with reports 
of cases coming from new areas, from smaller towns and cities. So that is where they are spreading 
now.” 
 Задание 2 

 True False Not stated 
More people die of coronavirus in India than in America.  +  
In India, one million people contracted coronavirus during the 
first three weeks of the pandemic in the country. 

 +  

Most medical professionals in India believe the authorities 
should not have lifted the lockdown the country entered in 
spring. 

  + 
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Вариант III 
 

I. Лексико-грамматические задания  
 Задание 1 

А. 1) c; 2) c; 3) b 
Б. 1) c; 2) a; 3) a 
В. 1) a; 2) c; 3) b 
Г. 1) c; 2) c; 3) a 
Д. 1) b; 2) b; 3) c 

 Задание 2 
1) lied 2) wound 3) sought 

 Задание 3 
 1-2 2-4 3-1 4-6 5-5 6-3 7-7 
 Задание 4 

1) c; 2) c; 3) c 
  
II. Проверка понимания текста 
 Задание 1 

1. B 
2. A 
3. C 

 
III. Проверка лингвострановедческих знаний 
 Задание 1 

1. B. Nevada  
2. C. The New Deal 
3. B. Lughnasadh 

 
IV. Проверка навыков аудирования (Текст и задания одинаковы для всех вариантов) 
 Задание 1 

News Anchor: It took India 6 months to register its first half a million coronavirus cases, 
but just three weeks to reach a million – a milestone it topped on Friday. So far, major cities like 
Delhi and Mumbai have been the worst affected. But now rural areas in the south-east and west of 
the country are seeing significant rises. 

India went into a nation-wide lockdown in March when there were just a few hundred 
cases. It was lifted last month but some medics like Dr. Harjit Singh Bhatti from Delhi’s Manipal 
Hospital say that was a big mistake. 

Dr. Harjit Singh Bhatti: The reopening of lockdown is also a major cause for it because 
first thing is that the lockdown period was not used appropriately for breaking the chain of 
transmission, and secondly the lockdown was reopened without any further planning to how to 
control the virus. 

News Anchor: Well, other people point to areas of progress. Dr. Harsh Mahajan is Vice 
President of the National Federation of Healthcare in India. 

Dr. Harsh Mahajan: There are some silver linings also – Delhi and Mumbai – the numbers 
are coming down. And in fact only 25% of COVID beds are now occupied. India has had very 
good case fatality rate – (that) it’s been 2.5%. If you look at the US or Brazil it’s 3.9 and 3.8%. 

News Anchor: But our correspondent in Delhi Zubair Ahmed says that if you look at the 
rate of spread, the figures are very worrying. 
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Zubair Ahmed: Every day the rise in cases breaks the previous day’s record, with reports 
of cases coming from new areas, from smaller towns and cities. So that is where they are spreading 
now.” 
 Задание 2 

 True False Not stated 
In India, only those living in large cities are at risk of 
contracting coronavirus. 

 +  

In Delhi and Mumbai the virus is spreading faster than 
elsewhere in India due to the local hospitals being under-
equipped. 

  + 

Three fourths of hospital beds for patients with coronavirus in 
India are vacant. 

+   

 


